PROPOSAL

Long Lake Park Boat Launch Project,

Alpena County, MI

BIDDERS NAME: MacArthun Construction		
LEGAL ADDRESS: 16815 1-32 6		
Hillman Mi	Zip Code	
TELEPHONE: (981) 484-7280		
PROPOSAL FOR: Alpena County Park Commission		
PROJECT NAME: Long Lake Park Boat Launch Project		

April 25th, 2024, 4:30 pm

In response to your invitation for bids, the undersigned submits the following offer to enter into a contract with Alpena County Parks Commission, subsequent to the opening of bids. This offer has been prepared after our examination of the complete plans and specifications, together with their related documents and our examination of the proposed work, including the availability of materials, equipment and labor.

Included in this offer are all costs necessary for the proposed work, all in accordance with the contract documents prepared by R.S. Scott Associates, Inc., Alpena, MI 49707, for the sum of: Bidder will be required to comply with various Federal, State and Local Laws. Funding from the State of Michigan Natural Resources Trust Fund will be used to assist in construction and relevant state requirements will apply.

The proposal is broken down as follows:

BID DEADLINE:

<u>Item</u>	Quantity	Cost	<u>Total</u>
1. Clearing	.7 Acres	11,500	8050
2. Earth Excavation	3800 CYD		38000
3. 12" Subbase	2700 CYD	27	72900
4. 6" Aggregate 22A	1800 Tons	26	46800
5. HMA 13A	2000 Tons	100	200,000

6. Slope Restoration	2900 SY	7	70 304
7. Split Rail Fence	415 LFT		7470
8. Paint Striping	4450 Lft	1.30	5800
9. Vault Toilet	1 LSUM	98000 AM	98000
10. Buoys	6 Each	2000	12000
11. Navigation Light	1 Each	2004	2000
12. Turbidity Curtain	815 LFT	3 @	24450
13. 5'x 40' Skid Pier	1 Each	42000	42000
14. 6' x 40' Skid Pier	1 Each	50000	50000
15. Precast Conc Plank	92 Each	1200	110,400
16. Dredging	1278 CYD	30	38,340
17. Rip Rap Heavy	80 SYD	100	8000
18. Embankment	200 CYD	3	600

Total	(\$	785	110.00)
	-			_

TOTAL AMOUNT OF BID INCLUDES THE FOLLOWING ADDENDA

LIQUIDATED DAMAGES AND COMPLETION OF WORK

Should the undersigned fail to complete the **work by May 17th, 2024**, (unless otherwise negotiated) it is agreed that the sum of \$100 will be deducted from the contract amount for each and every calendar day the work is incomplete.

It is understood and agreed that this deduction from the contract amount is not a penalty, but represents liquidated damages suffered by the Owner, and is so fixed, on a per diem basis, because of the extreme difficulty of ascertaining the true and full amount of damage the Owner will sustain if the work, of the undersigned, is not completed by the above date. Furthermore, it is understood there will be no incentive pay for early completion.

SIGNATURE					
The bidder decl			atus in submitting the propo-		
(×)	A Corporation of	rganized	and existing under the law	of the State of	
()	Partnership			•	
()	An Individual do	oing busir	ness as	•	
Respectfully su	bmitted,		Ordin meeting President		
		DATE _ (Affix Co	4-25-23 proprate Seal if Non-Michiga	an Corporation	

THE CINCINNATI INSURANCE COMPANY

Bid Bond

CONTRACTOR (Name, legal status and address):

SURETY (Name, legal status and principal place of business):

MacArthur Construction Inc. 16915 M-32

THE CINCINNATI INSURANCE COMPANY 6200 S. GILMORE ROAD FAIRFIELD, OHIO 45014-5141

Hillman, MI 49746

OWNER (Name, legal status and address):

County of Alpena

720 W Chisholm St, Ste 7

Alpena, MI 49707

BOND AMOUNT:

\$400,000

This document has important legal consequences, Consultation with an attorney is encouraged with respect to its completion or modification.

Any singular reference to Contractor, Surety, Owner or other party shall be considered plural where applicable.

PROJECT (Name, location or address, and Project number, if any):

Long Lake Park Improvements

10002 Hinks Park Rd

Project Number, if any:

Alpena, MI 49707

The Contractor and Surety are bound to the Owner in the amount set forth above, for the payment of which the Contractor and Surety bind themselves, their heirs, executors, administrators, successors and assigns, jointly and severally, as provided herein. The conditions of this Bond are such that if the Owner accepts the bid of the Contractor within the time specified in the bid documents, or within such time period as may be agreed to by the Owner and Contractor, and the Contractor either (1) enters into a contract with the Owner in accordance with the terms of such bid, and gives such bond or bonds as may be specified in the bidding or Contract Documents, with a surety admitted in the jurisdiction of the Project and otherwise acceptable to the Owner, for the faithful performance of such Contract and for the prompt payment of labor and material furnished in the prosecution thereof; or (2) pays to the Owner the difference, not to exceed the amount of this Bond, between the amount specified in said bid and such larger amount for which the Owner may in good faith contract with another party to perform the work covered by said bid, then this obligation shall be null and void, otherwise to remain in full force and effect. The Surety hereby waives any notice of an agreement between the Owner and Contractor to extend the time in which the Owner may accept the bid. Waiver of notice by the Surety shall not apply to any extension exceeding sixty (60) days in the aggregate beyond the time for acceptance of bids specified in the bid documents, and the Owner and Contractor shall obtain the Surety's consent for an extension beyond the sixty (60) days.

If this Bond is issued in connection with a subcontractor's bid to a Contractor, the term Contractor in this Bond shall be deemed to be Subcontractor and the term Owner shall be deemed to be Contractor.

When this Bond has been furnished to comply with a statutory or other legal requirement in the location of the Project, any provision in this Bond conflicting with said statutory or legal requirement shall be deemed deleted herefrom and provisions conforming to such statutory or other legal requirements shall be deemed incorporated herein. When so furnished, the intent is that this Bond shall be construed as a statutory bond and not as a common law bond.

Signed and sealed this 25th

day of pr

2023

Kon

(Principal)

(Seal)

(Title)

Egutho Morris

THE CINCINNATI INSURANCE COMPANY

2(y) 0 - ()

(Seal)

(Title)
Attorney-in-Fact

SEAL DEED